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Part I: Multiple Choice
Choose the letter of the answer that best completes each question (2 points)

________1. At the beginning of Act 3, Mercutio accuses Benvolio of quarreling “With a man for coughing in the street, because he hath wakened thy dog that hath lain asleep in the sun.”What makes this statement ironic?

A. Benvolio is so quarrelsome that he is soon killed.
B. Mercutio is more quarrelsome than Benvolio.
C. Romeo is more quarrelsome than Benvolio.
D. Dybalt soon starts a quarrel with Benvoliio.

________2. Romeo is motivated to kill Tybalt because Tybalt has
A. called Romeo a villain.
B. killed Benvolio .
C. killed Mercutio.
D. challenged Romeo to a duel.

________3. The Prince decrees that Romeo
A. must leave Verona or face death.
B. Is not responsible for Tybalt’s death.
C. Should be jailed.
D. Must duel with a Capulet.

________4. When the nurse brings Juliet the news of the day’s tragedy, Juliet misunderstands and first thinks the slain man is
A. Paris
B. Romeo
C. Tybalt
D. her father

________5. When Benvolio tells Prince Escalus what happened on the street he:
A. puts all of the blame on Mercutio
B. puts all of the blame on Tybalt
C. makes up lies to have the Montagues look better
D. tells the truth. 

_________6. Juliet sends the nurse to give Romeo
A. a ring
B. her Bible
C. a note telling of her love
D. a small box

_________7. When Romeo hears of his punishment, he is 
A. relieved
B. angry
C. sure it is worse than death
D. determined to win the Prince’s pardon 

_________8. Friar Laurence tells Romeo to 
A. leave Verona immediately
B. hide at home
C. leave Verona before daybreak
D. hide at the church

_________9. In Act 3, Capulet tells Paris that
A. Juliet is too young to marry
B. Paris and Juliet will be married
C. Juliet is too grieved to talk of marriage
D. Juliet doesn’t love Paris

_________10. Why is Capulet so upset by Juliet’s refusal to marry Paris?
A. He considers Paris to be a good match for her.
B. He is uncomfortable with her tears.
C. He does not want her to marry Romeo.
D. He will need to find someone else for her to marry.

_________11. Capulet warns Juliet that if she does not marry Paris on Thursday he will
A. send her to a convent
B. whip her
C. disown her
D. put her in the family dungeon

_________12. Juliet loses trust in the Nurse at the end of Act 3 because the Nurse
A. believes that Romeo is dead.
B. recommends that she run away.
C. advises her to marry Paris.
D. brings too much bad news.

_________13. After his wedding night, Romeo departs for
A. Paris
B. Mantua
C. Verona
D. Rome
[bookmark: 3]_________14. Why does Juliet go to Friar Lawrence’s cell at the end of Act 3?
A. to cancel her marriage to Romeo
B. to hide from her family
C. to seek his advise
D. to grieve for Tybalt

_________15. In Scene I, Mercutio speaks the following line: “Tybalt, you ratcatcher, will you walk?”
Mercutio wants Tybalt to —
A give up the fight
B join Mercutio for the evening
C fight
D leave quietly

_________16. At first, Romeo doesn’t want to fight Tybalt because Romeo 
A is a coward
B is now related to Tybalt by marriage
C thinks that Mercutio has a better chance of beating Tybalt
D is on his way to marry Juliet

_________17. The Prince punishes Romeo by —
A sentencing him to death
B revealing his secret marriage to Juliet
C banishing him from Verona forever
D sentencing him to jail

_________18. When the Prince arrives, Benvolio —
A promises to bring Romeo to the prince
B recounts the events of the killings to the prince
C delivers a message from Romeo to Juliet
D confesses to the killing of Tybalt to the prince__

_______19. All of the following consequences result from Romeo’s killing of Tybalt except—
A Juliet decides that Paris is more honorable than Romeo
B Romeo and Juliet cannot reveal their marriage
C Juliet is to be married to Paris almost immediately
D Romeo is banished from Verona

_________20. Friar Lawrence tells Romeo that he should be glad for the following except --
A Juliet still loves him. 
B Romeo is banished, not sentenced to death. 
C Tybalt is dead. 
D Benvolio survived the sword fight. 

________21. The Nurse helps Juliet by —
A persuading Juliet to tell Lord and Lady Capulet of her marriage to Romeo
B going to Friar Laurence with a ring of Juliet’s for Romeo
C never arguing with Juliet and always praising Romeo
D hiding the news about Tybalt and Romeo from Juliet

[bookmark: 4]_________22. Which statement is true about Paris?
A His interest in Juliet lessens after Tybalt dies.
B He visits the house of Montague and speaks with Benvolio.
C He enjoys puns and games that match people’s wits.
D He wishes to marry a woman he has not courted.

_________23. Lord Capulet responds to the death of Tybalt by —
A plotting to personally murder Romeo. 
B arranging the immediate marriage of Paris and Juliet.
C negotiating with the prince for Romeo’s banishment. 
D asking Paris to leave Verona and await further word. 

_________24. All of the following events happen at the conclusion of Act 3 except —
A the Nurse suggests that Juliet forget Romeo and marry Paris
B Juliet refuses to marry Paris
C Lord Capulet scorns his only child and vows to disown her
D Lady Capulet convinces Lord Capulet that Paris should leave Verona

_________25. Where is Romeo sent because of his banishment ? 
A Mantua
B Antwerp
C Paris
D Mancini

